R GES QYN =2 N EI U ES

SR OEH AR TESR

= M SF6FE1274H (k) ~12H18H (k) 15H[H
ik 0
H %2 0| BHEERE) it B % T fii
4 | K| 9:30 | 2EWHES 2EWHESE
10:00 ik E
B
Rkt E A H B OfR4
- SHORE
5B HETRE - B
TKFREAR — R R BRI
AR D
s |« 10:00 | A& CE
—E M 4 4
6 | 4 R =
7|+ R =
8 | H R =
o | 5 10:00 | A& W
SB, MIE TR — B
10 | & R =
11| K| 9:30 | MEEREES Z B =
12 K| 9:30 | XHEAZES Z B o=
13| & (FEZESTHA)
14 | £ R =
15| H R =
16 | A R =
-y 9:30 | (MIEZEEFLED)
13:30 | EiEEE RS Z B o=
18| K| 9:30 | 2EWH#HES EEWES=E
-ZESWE - HE
(RTE) i E
-ZERWE — B -FlhEa Bk
Pl A LLHT SR 2 B 2 B2 22 B R OV e B D18 %%




